Imperfect Information in Health Care Markets

Exercise Session 9 - Risk Adjustment and Advantageous
Selection



Questions about the lecture



Exercise 20

Suppose the population consists of two types / and h with the
expenditure distribution for each type as in the table below. In this

exercise we measure the incentive of an insurance to engage in risk
selection by the difference in expected expenditures.

a) Calculate the expected expenditures per risk type and the
incentives to engage in risk selection.

risk/expenditure ‘ 0 ‘ 10 ‘ 30
I 40% | 10% | 50%
h 10% | 50% | 40%
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Exercise 20 b)

Consider a risk adjustment scheme that covers all expenditures
above 20 (i.e. all expenditures above 20 are covered by some
common fund to the extent that they exceed 20). Calculate the
expected expenditures per risk type that an insurer has to cover
himself and the incentives to engage in risk selection. What is the
idea behind such a risk adjustment scheme?

risk/expenditure ‘ 0 ‘ 10 ‘ 30
I 40% | 10% | 50%
h 10% | 50% | 40%
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Exercise 20 c)
Consider a risk adjustment scheme that covers all expenditures up
to 8 (i.e. all expenditures up to 8 are covered by some common
fund). Calculate the expected expenditures per risk type that an
insurer has to cover himself and the incentives to engage in risk
selection.

risk/expenditure ‘ 0 ‘ 10 ‘ 30
| 40% | 10% | 50%
h 10% | 50% | 40%
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Exercise 20 d)

Consider expenditure distributions that satisfy the following
conditions: pﬁo > p?o and p,170 + p,3,0 > p,10 + p,30 where pﬁo is the
probability that a high risk type has expenditures 30 and so on.
@ Show that the incentives to engage in risk selection are
decreased by a risk adjustment scheme as in b) for all such
distributions.

@ Show that the incentives to engage in risk selection are
decreased by a risk adjustment scheme as in c) for all such
distributions.

risk/expenditure ‘ 0 ‘ 10 ‘ 30
I 40% | 10% | 50%
h 10% | 50% | 40%
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Exercise 21

Compare adverse and advantageous selection.



Exe U

Adverse  Seboshon:  Peopl have ad ure poivade iaforstn atot bher  swn ALK
=) peaph Lo bay ivusuce lave bpler K onasge lompedd fo thde prputihion)

Admrfﬁjw Jlbion:  Tleee S a  Ladcble (e 9. rkavedion) ftad- s /”095["#% R /ma’a.‘éf&y
b by an iwuouce oud uephively tomtlided M. ASK
=) pesple. o by Wurtme have lorc XK on acerage

Cowmparison: Lot are aboet Selpckisy (cho  buf iuirenc)
~> K ok v PR avedt oy, At imploabt for Fo. contlhon, of Lluctut  puchase
(aclvect) Cactcandagesns) ond thpested  hoalth Gace kpleditureS
> ety Jems fo be a i o bofh

Lflr 7 cplhee (uptichiB: doc el Rlerlia | foo fus pogple. by it
nad fuis 05 ot neco@raly frue  ondec ooy Sebohisn

=)



Exercise 22
9N-Uf “eda”

Let consumers have the utility function u(x) = —e™"*. Each
consumer faces a loss L of his initial wealth W with probability a.
While W and L are the same for all consumers, consumers differ in
nand a. Let W =10 and L =5.

a) Compare the willingness to pay for a full coverage insurance
contract of two consumers: Consumer A has risk apq = 0.3
and risk aversion 74 = 1. Consumer B has risk ag = 0.2 and
risk aversion ng = 1.5.

b) Using otherwise the same parameters as in a), who would
have the higher willingness to pay if ng was 1 as well?

c) Using otherwise the same parameters as in a), who would
have the higher willingness to pay if ag was 0.3 as well?
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Exercise 22

d) (PC exercise in spread sheet application or Julia) Let there be
a continuum of consumers whose risk « is uniformly
distributed on [0.5,0.75]. Assume that n(a) =3 — a and
consider a full coverage insurance contract. Is this a case of
adverse or advantageous selection? Repeat with
n(a) =3 —3.75a.
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Exercise 23

Consider the fixed coverage model with perfect competition and no
administrative costs for insurance companies. Assume that all
consumers are risk averse.

a) How do the marginal cost, average cost and demand curve
look in case of advantageous selection?

b) Is the market equilibrium efficient?

c) Consider now insurance companies with contracting and claim
handling costs, i.e. each sold contract leads to expected
administrative costs ¢ > 0. What is the market equilibrium
and is it efficient?

d) For the case with administrative costs, consider a tax on
insurance premia (to be paid by consumer). What is the
impact of this tax on welfare?
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Exc 213
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Cologne Laboratory for Economic Research

Spielend Geld verdienen...

...in wirtschaftswissenschaftlichen Experimenten

Anmeldung unter:
www.lab.uni-koeln.de
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